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CHEMISTRY
( Major )
Paper : 5.3
( Organic Chemistry )
Full Marks : 60
Time : 3 hours

The figures in the margin indicqte Jull marks
for the questiong

1. Answer any seven of the following . 1x7=7
(a) What is the name of (. fo

llowing
reaction?
H,S0
REOOH +HN, ——220400 RNH

(b) Complete the following reaction

CH3 CHj;
Hsc——(l}—'“(l:_CHa dil, H2SO4
OH OH &
() Complete the following re, .
CHSCHQCOCHQCH:; \3._‘_)

CHsCHaCH O oo,
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(3)

(2)
dl N ! !
(d) Name the type of the following reaction : (d) Complete the following reaction -
[+ — () e,
_ T
. ! conc, H2804 !
(€) What is the fy]) form of HOMO? : ,
Give the mechanism,
()  Which one ig more acidic RSH or ROH?
(e) Draw the tautomers of acetoacetic est
i : : ster.
@ Why is furan least aromatic than Which,ofie IS OTe Stable and why?
thiopheney '
% V{hich Position of pyridine undergoes 3. Answer any three of the following questions .
electrophilic gybstitution reaction? ‘ 5>.<3—1 5
()  Why is e aeidie? (a) How does phenyl acetate ungepo ;
molecular rearrangement reag(? 1ntr.a-
0 the presence of A1C13p Give X Ct;lon in
3 ‘ . . : echanj
Wer any four of the following qu estions : of t.h1s reaction. What are the fEmtal‘usrn
Ox4=8 which relative amount of Ors on
# depends? Product
;Nhat_ happens on boiling an aqueous : LS
aoilu o0 of godium nitrite with an (Bjlys@ompletSithsf dfloving Teactiong
alogen : HaC CH }x5=5
cid? Write the 3
reaction Saxhoxylica (i) \C—-C/ pb(OACh
/| [#%
(b) Wn e onk R
rea:: hf{ppens when secondal'y amines Pinacol
With HNO,? Write the reaction. OH  pyoa ]
© W i @ s
is ;t happens when aryldiazonium salt OH ——
e :
i “Ated with B-naphth()l? Write the Cyclohexane
€actiq
n, -1,2-diol
20A/281
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(c)

(d)

20A/281

(< )

OH

(lll) Pb(OAc)4 5
OH

; 5
(iv) CH3(CHy),CHO — > CH3(CH,)4CH,0H

(1) CHycoci —AH 5 5

Which cycloaddition reaction is known
as Diels-Alder reaction? Write the
product of the following reaction and
justify the stereochemistry of the
product using FMO method : 1+4=5

= hv
— ?
NS

What do you mean by active methylene
compound? From ethyl acetoacetate,

how will you prepare the following
compounds?

1+4=5
(i) Cinnamic acid

(i) Monocarboxylic acid
(i) A heterocyclic compound

(iv) Butanone

( Continued )

4. Answer the following questions :

(@)

(b)

20A/281

(5)
10x3=30

Either

() What happens when ethanal
treated with nitroethane in the
presence ©of a base? Write the
reaction and give the mechanism.
Write the Mannich reaction. 1+3+1=5

i) What are the different products you
Sbtain when nitrobenzene
undergoes reduction in alkaline
medium? Write the reactions.

5
Or
() What is exhaustive methylation
of amines a.nd Hoffmann’s
elimination?  Discuss ity a
Suitable examp].e. 5
(ij) Explain the following . L¥1+140-5
1. Aniline is less basic
N-methyl aniline_ e
9. Dlphenyl amine is a m
weaker base than ap;. ik
3. 2,4,6-trinitroaniljy IS termed
Picramide €ven thOngh e.
contains NO amjqe 1inkage §
( Turn Over )
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(6 )

& Tripheny amine ~and
NsN-dimethyl aniline are both
ter Fiary amines.  Triphenyl
dMine is insoluble in HCI but
N_:N-dimethyl aniline readily
dissolves in HCI.

Either

€ @ g
X
Plain why the electrophilic

ub
Stitution takes place preferably
I apOSltlon in furan, thiophene
d Pyrrole.

(ii)
Pirr()le is acidic in character like
Fheno], Explain

(@) p
nl:SC lbe  the mechanism  of
Tation ¢ pyridine and justify

o Substitution takes place at
S!tl()n 3

Or

@ g
W
hat are ponnucIeaI' hydro-

typbons:) What are the different
Cs? 1+2=3

(i) w..
I'it, .
Hap}? the Haworth’s synthesis of

thalene. =

20A/28 1
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87 )

(i) Give the product with name of the

following : 1x4=4
. .
CrO,, ACOH
D Eoser > P

o‘.me
4.“/ <L

Either

the foll
(o s T BN sy,
transformation  as g LRy g the
on

reduction : or
QH OH §TER10
=
(i) BT
?
w @0
: _Pd/Hp |
fiv) ? RCHO
K/NH;,
(v) ———C) C,HsOH ° °
(CHa)g
20A/281
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( 8)

Or
! |

U} (i) _ Pl‘edict ihe structures for
€Ompounds 7, If and I :

Lie T
1,3-butadine Q Tand IIT
Ilan

Ment? What do you mean L
Order [i S o e sigmatropic

rea”angernent? Give example.

opic rearransge-
y the

1+1+1=3

{iu} DiSCuSS t}]e FMO met_h_od Of

@ +2) cycloaddition reaction-

(iv) Write R Woodwar C_i‘
cyclic
Hoffm?mn rules for eloghocy 2

reacti()n.

* & %
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